
Ratio (अनुपात)

Basic understanding
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Concept Lecture – 1 



A sum of money 𝑹𝒔. 𝟒𝟐𝟎𝟎 is distributed
among Amar and Madan in 𝟗: 𝟓. What is the
part of Madan?
𝟒𝟐𝟎𝟎 रु की एक धनराशी को अमर और
मदन के बीच 9:5 के अनपुात में बाांटा जाता
है। मदन के हहस्से ककतने रु आयेंगे?
a) 𝟏𝟎𝟓𝟎 b) 𝟏𝟓𝟎𝟎 c) 𝟏𝟎𝟎𝟓 d) 𝟓𝟏𝟎𝟎
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If a sum of 𝑹𝒔. 𝟒𝟒𝟏𝟎 is distributed among
Sunny, Boby and Dharmendra in ratio 𝟑: 𝟕: 𝟖
respectively. What is the part of Sunny?
𝟒𝟒𝟏𝟎 रु की एक धनराशी को सन्नी, बॉबी और
धमेन्र में 𝟑: 𝟕: 𝟖 के अनपुात में बाांटा जाता है।
सन्नी के हहस्से ककतनी धनराशी आयी?
a) 𝟏𝟓𝟒𝟓 b) 𝟏𝟕𝟒𝟎 c) 𝟕𝟒𝟓 d) 𝟕𝟑𝟓
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The ratio of the number of employees in HR
department, Marketing department and Finance
department is 𝟐 ∶ 𝟑 ∶ 𝟏 . If the total number of
employees in these three departments form 𝟔𝟎% of
the total employees. What percentage of the
employees of that company is in HR department?
HR विभाग, माकेहटांग विभाग ि फाइनेंस विभाग में
कममचाररओां की सांख्या का अनपुात 𝟐: 𝟑: 𝟏 है| अगर
इन तीनों विभागों के सभी कममचाररओां की सांख्या कुल
कममचाररओां की सांख्या का 𝟔𝟎% है तो उस कां पनी के
ककतने प्रततशत कममचारी HR विभाग में कायमरत हैं?
a) 𝟐𝟓% b) 𝟐𝟎% c) 𝟐𝟒% d) 𝟑𝟎%
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A sum of money distributed among
𝑨,𝑩 and 𝑪 in the ratio 𝟑: 𝟕: 𝟓
respectively. If difference of 𝑨 and 𝑩
is 𝑹𝒔. 𝟕𝟔𝟎𝟎 then what is the share of
𝑪?
एक धनराशी को 𝑨,𝑩 और 𝑪 में
𝟑: 𝟕: 𝟓 के अनपुात में बाांटा गया। यहद
𝑨और 𝑩को ममले धनरामशयों का अांतर
𝟕𝟔𝟎𝟎 रु है तो 𝑪का हहस्सा क्या है?
a) 𝟖𝟓𝟎𝟎 b) 𝟕𝟓𝟎𝟎
c) 𝟗𝟓𝟎𝟎 d) 𝟗𝟎𝟎𝟎
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A sum of money is distributed among
three friends 𝑷,𝑸 and 𝑹 is in ratio
𝟐: 𝟓: 𝟕. If the share of 𝑷 and 𝑹 is
𝑹𝒔. 𝟖𝟎𝟎 more than 𝑸’𝒔 share. What is
share of P?
एक धनराशी को तीन ममत्रों में 𝟐: 𝟓: 𝟕
के अनपुात में बाांटा जाता है। यहद
𝑷 और 𝑹 का कुल हहस्सा, 𝑸 के हहस्से
से 𝟖𝟎𝟎 ज्यादा है। 𝑷 का हहस्सा ज्ञात
करे:
a) 𝟒𝟎𝟎 b) 𝟓𝟎𝟎
c) 𝟑𝟓𝟎 d) 𝟒𝟓𝟎
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Three numbers are in the ratio 𝟑: 𝟒: 𝟓. The sum
of the largest and the smallest equals the sum of
the second and 𝟓𝟐. The smallest number is
तीन सांख्याओां का अनपुात 𝟑: 𝟒: 𝟓 है। सबसे बड़ी
और सबसे छोटी सांख्या का योग, दसूरी सांख्या
और 𝟓𝟐 के योग के बराबर है। सबसे छोटी सांख्या
ज्ञात कीजजये:
a) 𝟐𝟎 b) 𝟐𝟕 c) 𝟑𝟗 d) 𝟓𝟐
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𝟏𝟐𝟎 students appeared in a test. Which of the
following cannot be the ratio of failed students
and passed students?
ककसी परीक्षा में 𝟏𝟐𝟎 छात्रों ने हहस्सा मलया|
तनम्नमलखित में से कौन सा अनपुात सफल ि
असफल छात्रों का अनपुात नहीां हो सकता?
a) 𝟑 ∶ 𝟓 b) 𝟗 ∶ 𝟏 c) 𝟓 ∶ 𝟕 d) 𝟓 ∶ 𝟏𝟏

8



If a box containing one dozen mirrors has
slipped and some mirrors broken, which of the
following can not be the ratio of broken
mirrors to unbroken mirrors?
एक बक्से में 𝟏 दजमन दपमण है| बक्सा गगर
जाने के कारण कुछ दपमण टूट जाते है| इनमे से
कौन सा अनपुात टूटे हुए दपमण ि सही दपमण
का नहीां हो सकता?
a) 𝟑 ∶ 𝟏 b) 𝟕 ∶ 𝟓 c) 𝟐 ∶ 𝟑 d) 𝟏 ∶ 𝟐
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We have to divide sum of 𝑹𝒔. 𝟏𝟑, 𝟗𝟓𝟎 among
three persons 𝑨,𝑩 and 𝑪. In such a way that
𝑩 must get the double of 𝑨’𝒔 share and 𝑪 must
get 𝑹𝒔. 𝟓𝟎 less than double of 𝑩’𝒔 share. The
share of A will be:
𝟏𝟑, 𝟗𝟓𝟎 रूपए तीन लोग 𝑨,𝑩 और 𝑪 में बाांटने
हैं| ताकक 𝑩 को 𝑨 से दोगुना ममले और 𝑪 को 𝑩
के दोगुने से 𝟓𝟎 रूपए कम ममलें| तो 𝑨 का
हहस्सा बताएां:
a) 𝑹𝒔. 𝟏𝟗𝟓𝟎 b) 𝑹𝒔. 𝟏𝟗𝟖𝟏. 𝟓𝟎
c) 𝑹𝒔. 𝟐𝟎𝟎𝟎 d) 𝑹𝒔. 𝟐𝟎𝟎𝟕. 𝟕𝟓
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An amount of 𝑹𝒔. 𝟏𝟑𝟎𝟎 is distributed to three
persons 𝑨,𝑩, 𝑪 such that the amounts received by
𝑨 and 𝑩 were in the ratio 𝟑 ∶ 𝟒. If 𝑪 gets Rs. 𝟏𝟎𝟎
more than 𝑨, how much amount did 𝑩 get?
𝟏𝟑𝟎𝟎रु की रामश 𝑨,𝑩, 𝑪 में इस तरह बाांटी जाती
है कक 𝑨 ि 𝑩 को ममली रकम का अनपुात 𝟑: 𝟒 है|
अगर 𝑪 को 𝑨 से 𝟏𝟎𝟎 रूपए जयादा ममलते है तो
𝑩 को ककतने रकम प्राप्त हुआ?
a) 𝑹𝒔. 𝟑𝟔𝟎 b) 𝑹𝒔. 𝟒𝟔𝟎 c) 𝑹𝒔. 𝟒𝟖𝟎 d) None
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Three numbers are in ratio 𝟐: 𝟑: 𝟒. If the sum of
their squares is 𝟏𝟖𝟓𝟔, then the numbers are
तीन सांख्याओां का अनपुात 𝟐: 𝟑: 𝟒। यहद इनके िगों
का योग 𝟏𝟖𝟓𝟔 है, तो सांख्याओां को ज्ञात कीजजये:
a) 𝟖, 𝟏𝟐 and 𝟏𝟔 b) 𝟏𝟔, 𝟐𝟒 and 𝟑𝟐
c) 𝟏𝟐, 𝟏𝟖 and 𝟐𝟒 d) 𝟏𝟐𝟖, 𝟏𝟗𝟐 and 𝟐𝟓𝟔
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The product of two positive integers is 𝟏𝟓𝟕𝟓 and
their ratio is 𝟗: 𝟕. The smaller integer is
दो धनात्मत पणूाांको का गणुनफल 𝟏𝟓𝟕𝟓 है और
उनका अनपुात 𝟗: 𝟕 है तो छोटी सांख्या ज्ञात करें।
a) 𝟐𝟓 b) 𝟑𝟓 c) 𝟒𝟓 d) 𝟏𝟕𝟓
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If a number is divided by the other number, the
division is 𝟑/𝟓, if their difference is 𝟐𝟖, what is
the bigger number of the two?
यहद एक सांख्या को दसुरी सांख्या से भाग देने
पर विभाजन 𝟑/𝟓 आता है तथा इन सांख्ययों का
अांतर 𝟐𝟖 है तो दोनों में से बड़ी सांख्या क्या है?
a) 𝟑𝟓 b) 𝟏𝟒𝟎 c) 𝟕𝟎 d) 𝟖𝟒 e) 𝟒𝟐
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The average of two numbers is 𝟔𝟐. If 𝟐 is
added to the smallest number, the ratio
between the numbers becomes 𝟏: 𝟐. The
difference of the numbers is
दो सांख्याओां का औसत 𝟔𝟐 है। यहद सबसे
छोटी सांख्या में 𝟐 जोड़ा जाये, तो सांख्याओां
के बीच का अनपुात 𝟏: 𝟐 हो जाता है।
सांख्याओां के बीच का अांतर ज्ञात कीजजये:
a) 𝟒𝟐 b) 𝟒𝟎 c) 𝟖𝟒 d) 𝟒𝟒
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The incomes of 𝑨,𝑩 and 𝑪 are in the ratio
𝟑: 𝟕: 𝟒 and the expenses in the ratio 𝟒: 𝟑: 𝟓.
If 𝑨 saves 𝑹𝒔. 𝟑𝟎𝟎 out of an income of
𝑹𝒔. 𝟐𝟒𝟎𝟎, the sum of savings of 𝑩 and 𝑪 is:
𝑨,𝑩 और 𝑪 के आय का अनपुात 𝟑: 𝟕: 𝟒 है
और उनके व्यय का अनपुात 𝟒: 𝟑: 𝟓 है। यहद
𝑨 𝟐𝟒𝟎𝟎 रू की आय में, 𝟑𝟎𝟎 रु बचाता है।
तो 𝑩और 𝑪की बचत का योग ज्ञात कीजजये:
a) 𝟒𝟎𝟐𝟓 b) 𝟒𝟐𝟎𝟎
c) 𝟒𝟒𝟎𝟎 d) 𝟑𝟔𝟎𝟎
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The income of 𝑨 and 𝑩 are in the ratio 𝟓: 𝟑.
The expenses of 𝑨,𝑩 and C are in the ratio
𝟖: 𝟓: 𝟐. If C spends 𝑹𝒔. 𝟐𝟎𝟎𝟎 and 𝑩 saves
𝒓𝒔. 𝟕𝟎𝟎, then 𝑨 saves
𝑨 और 𝑩 के आय का अनपुात 𝟓: 𝟑 है।
𝑨,𝑩और 𝑪 के व्यय का अनपुात 𝟖: 𝟓: 𝟐 है।
यहद 𝑪 का व्यय 𝟐𝟎𝟎𝟎 रु और 𝑩 की बचत
𝟕𝟎𝟎 रु हो तो, 𝑨की बचत ज्ञात कीजजये:
a) 𝟏𝟓𝟎𝟎 b) 𝟏𝟎𝟎𝟎 c) 𝟓𝟎𝟎 d) 𝟐𝟓𝟎
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The sum of ages of a father and his son is
𝟏𝟎𝟎 years now. 𝟓 years ago their ages were
in the ratio of 𝟐: 𝟏. The ratio of the ages of
father and son after 𝟏𝟎 years will be
वपता और पतु्र की आयु का योग 𝟏𝟎𝟎 िर्म
है। पााँच साल पहले उनकी आयु का अनपुात
𝟐: 𝟏 था। तो 𝟏𝟎 साल बाद उनकी आयु का
अनपुात क्या होगा?
a) 𝟓: 𝟑 b) 𝟒: 𝟑 c) 𝟏𝟎: 𝟕 d) 𝟑: 𝟓

18



19

A sum of ₹3,780 is divided between A, B and
C such that if their shares are decreased by
₹130, ₹150 and ₹200, respectively, then
they are in the ratio of 𝟓 ∶ 𝟐 ∶ 𝟒. What is the
original share of C?
₹3,780 की रामश को A, B और C के बीच इस
प्रकार विभाजजत ककया जाता है कक यहद
उनके हहस्सों में क्रमशः ₹130, ₹150 और
₹200 की कमी की जाती है, तो उनका
अनपुात 𝟓 ∶ 𝟐 ∶ 𝟒. होता हैं। C का मलू हहस्सा
ज्ञात करें|
a) ₹1,350 b) ₹1,330
c) ₹1,400 d) ₹1,430

SSC MTS, 6 Oct 2021, S3



Rs.𝟔𝟎𝟎 is divided among 𝑨,𝑩 and 𝑪. Rs.𝟒𝟎

more than
𝟐

𝟓
th of 𝑨′𝒔 share, Rs.𝟐𝟎 more than

𝟐

𝟕
th of B’s share and Rs. 𝟏𝟎 more than

𝟗

𝟏𝟕
th of

C’s share are all equal, then A’s share is

𝟔𝟎𝟎 रु को 𝑨,𝑩 और 𝑪 के बीच बाांटा गया है|
𝑨 के शयेर के 𝟐

𝟓
th से 𝟒𝟎 रु अगधक, 𝑩 के

शयेर के 𝟐

𝟕
th से 𝟐𝟎 रु अगधक, C के शयेर के 𝟗

𝟏𝟕

th से 𝟏𝟎 रु अगधक बराबर है| 𝑨 का शयेर है?
a) 𝟏𝟓𝟎 b) 𝟏𝟕𝟓 c) 𝟏𝟔𝟎 d) 𝟏𝟒𝟎
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